
AUDI

                                                                                        
80 (81,82,B1)                                                                                05 / 1972 - 07 / 1978
80 Quattro (80,82,B1) 

50

80

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1
2
3
4
5
6

823 407 365 E
823 407 365 A
855 407 365 A
855 407 366 A
811 419 812
811 419 812 A

Ball Joint Lower
Ball Joint Lower

Tie Rod End
Tie Rod End

Ball Joint Lower Left
Ball Joint Lower Right

Power S. (15 mm)
Power S. (17 mm)
Power S. (17 mm)

Mechanical S. (17 mm)

M14x1,5 RHT
M14x1,5 RHT

10AU0000
10AU0001
10AU0200
10AU0201
17VW2001
17VW2005

Chassis  -->  81 - A - 0173 - 588>

Chassis   81 - A - 0173 - 589  -->

PS
01 / 1973   -   08 / 1977

Z

MS
09 / 1977   -   07 / 1978

PS     09 / 1977  -  07 / 1978

5 5

1 1

6 6

2 2

1 1

3 4

17VW2001

17VW2005 17VW2005

10AU0000 10AU0000

10AU0001 10AU0001

17VW2001

17VW2001 17VW2001

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 811 419 812Tie Rod End M14x1,5 RHT17VW2001

10AU020110AU0200



                                                                                        
80 (81,85,B2)                                                                                 08 / 1978 - 07 / 1986
80 Quattro (81,85,B2) 

AUDI
80

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1
2
3
4
5

823 407 365 E
823 407 365 A
855 407 366 A
811 419 812
811 419 812 A

Ball Joint Lower
Ball Joint Lower Left

Tie Rod End

Ball Joint Lower Right
Tie Rod End

Mechanical S. (17 mm)
Power S. (17mm)
Power S. (17mm)

M14x1,5 RHT
M14x1,5 RHT

10AU0000
10AU0200
10AU0201
17VW2001
17VW2005

Chassis --  81 - A - 0173 - 588>

Chassis  81 - A - 0173 - 589 --

PS 09 / 1977 >

>

MS
08 / 1978 - 07 / 1986

4 4

5 5

2 3

1 1

17VW2001

17VW2005 17VW2005

10AU020110AU0200

10AU0000 10AU0000

17VW2001



                                                                                        
80 (89,89Q,8A,B3)                                                                          06 / 1986 - 10 / 1991
80 Quattro (89,89Q,8A,B3)

AUDI

Z

80

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1
2
3
4
5
6
7
8
9
10

893 407 366 F 
893 407 365 F 
893 407 366 A
893 407 365 A
855 407 365 A
855 407 366 A
855 407 365
855 407 366 
811 419 812 A
8A0 407 465 C

Ball Joint Lower Right
Ball Joint Lower Left

Ball Joint Lower Right
Ball Joint Lower Left

Ball Joint Lower Left
Ball Joint Lower Right

Stabiliser Link
Tie Rod End

Ball Joint Lower Left
Ball Joint Lower  Right

Power S. (19mm)
Power S. (19mm)
Mechanical S. (19mm)

Power S. (17mm)
Power S. (17mm)

Mechanical S. (19mm)

Mechanical S. (17mm)

M14X1,5 RHT
M14x1,5 RHT

Mechanical S. (17mm)

10AU01
10AU04
10AU05
10AU06
10AU0200
10AU0201
10AU0501
10AU0601
17VW2005
26AU0100

MS  -->  Chassis 89 - J - 373598

PS 
      06/1986 - 07/1989  

Z

MS  
Chassis  89-J-373599   -->   

PS  01/1988 - 12/1989 
Chassis  85 - J - 373599 --> 

7 8

9 9

10 10

5 6

3 4

2 1

17VW2005

10AU0501

10AU0200

10AU05

10AU04

10AU0601

10AU0201

10AU06

10AU01

26AU0100 26AU0100

17VW2005



                                                                                        
80 (8C2,B4)                                09/1991 - 12/1994
80 Avant (8C5,B4)                               09 / 1991 - 01 / 1996
80 Quattro (8C2 - 8C5,B4)                              09 / 1991 - 07 / 1996

AUDI
80

1
2
3
4
5

893 407 365 B  
893 407 366 B  
811 419 812 A
8A0 407 465 C
8D0 511 327 C

Ball Joint Lower Left
Ball Joint Lower Right

Stabiliser Mounting

Tie rod End
Stabiliser Link

17 mm 
)17 mm 
M14x1,5 RHT
M14x1,5 RHT
Ø 10

10AU1500
10AU1501
17VW2005
26AU0100
38AU0100

Z

Quattro

Z

3 3

4 4

21

5 5

17VW2005

10AU1500 10AU1501

38AU010038AU0100

26AU0100 26AU0100

17VW2005

NO ASMETAL CODE MEASURES OEMDESCRIPTION

Z



                                                                                        
90 (81,85,B2)                               06 / 1984 - 10 / 1987
90 Quattro 

AUDI
90

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1
2
3
4

823 407 365 E
855 407 365 A
855 407 366 A
811 419 812 A

Ball Joint Lower
Ball Joint Lower Left
Ball Joint Lower Right
Tie Rod End

Mechanical S. (17mm)
Power S. (17mm)
Power S. (17mm)
M14x1,5 RHT

10AU0000
10AU0200
10AU0201
17VW2005

PS

Z

MS

Z

4 4

32

1 1

17VW2005

10AU0200

10AU0000 10AU0000

10AU0201

17VW2005



AUDI
                                                                                        
90 (89,89Q,8A,B3)                               04 / 1987 - 07 / 1991
90 Quattro (89, 89Q, 8A, B3)    

90

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1
2
3
4
5
6
7
8
9
10

893 407 366
893 407 365
893 407 366 A
893 407 365 A
855 407 365 A
855 407 366 A

895 407 365
895 407 366
811 419 812 A
8A0 407 465 C

Ball Joint Lower Right
Ball Joint Lower Left
Ball Joint Lower Right 

Ball Joint Lower Left

Ball Joint Lower Left

Ball Joint Lower Left 

Ball Joint Lower Right

Ball Joint Lower Right
Tie Rod End

Stabiliser Link

Mechanical S. (19mm)
Mechanical S. (19mm)
Power S. (19mm)
Power S. (19mm)

Power S. (17mm)

Power S. (17mm)
Power S. (17mm)
Power S. (17mm)

M14x1,5 RHT
M14x1,5 RHT

10AU01
10AU04
10AU05
10AU06
10AU0200
10AU0201

10AU1500
10AU1501
17VW2005
26AU0100

MS 2.0 / 2.3

Z

PS 2.0 / 2.2 / 2.3
Chasis > 89 - J - 373598

PS 2.0 / 2.3 + Quattro
Chassis 89 - J - 373599

PS 2.3 + Quattro
Chassis 89 - J - 351001 >

Z

9

10

9

10

34

5

2

7

6

1

8

17VW2005

10AU0200

10AU04 10AU01

10AU150110AU1500

10AU06 10AU05

10AU0201

17VW2005

26AU0100 26AU0100



AUDI
                                                                                        
100 (44 - 44Q,C3)                                08 / 1982 - 11 / 1990
100 Avant (44 - 44Q,C3)
100 Quattro 

                                                                                        
100 (4A,C4)                                12 / 1990 - 07 / 1994
100 Avant (4A,C4)                                12 / 1990 - 11 / 1994
100 Quattro                                12 / 1990 - 11 / 1994 

100

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1
2

443 419 812 D
443 419 811 D

Tie Rod End Right
Tie Rod End Left M16x1,5 RHT

M16x1,5 RHT17AU04
17AU05

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1
2
3
4

443 419 811 D
443 419 812 D

443 419 811 C
443 419 812 C

Tie Rod End Left
Tie Rod End Right

Tie Rod End Left
Tie Rod End Right

M16x1,5 RHT
M16x1,5 RHT
M14x1,5 RHT
M14x1,5 RHT

17AU05
17AU04

17AU07
17AU06

3
4 443 419 811 C

443 419 812 C
Tie Rod End Left
Tie Rod End Right M14x1,5 RHT

M14x1,5 RHT17AU07
17AU06

--  Chassis 44 - E - 068 - 500
--  11 / 1983 

>
>

Z

>
>

Chassis 44 - E - 068 - 501 --
11/ 1983 --

Chassis  4AP001984 -
07/ 1992 --

>
>

>
--  Chassis 4A - P - 001 - 983

--  07 / 1992 
>

Z

34

2

4

2

1

3

1

17AU05

17AU0417AU05

17AU07 17AU06

17AU04

17AU07 17AU06



AUDI
                                                                                        
200 (44,44Q)                                06 / 1983 - 12 / 1991
200 Avant (44,44Q)                                09 / 1983 - 12 / 1991
200 Quattro                                                        08 / 1983 - 12 / 1991

200

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1
2

443 419 812 D
443 419 811 D

Tie Rod End Right
Tie Rod End Left M16x1,5 RHT

M16x1,5 RHT17AU04
17AU05

2 1

17AU05 17AU04



AUDI

8

                                                                                        
A1 (8X1,8XK)                                      
A1 Sportback (8XA , 8XF)                                            

05/2010 - 10/2018
11/2011 - 10/2018

Ø17

A1

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

8

99

10

11

12

13

14

6R0 407 365 A 

6R0 407 366 A 

6R0 423 811 

6R0 423 812 

6R0 423 810 

6Q0 411 315 N 

6R0 46R0 407 151 F 

6R0 407 152 F 

357 407 182 

1J0 407 181 

6R0 407 181 B 

6Q0 411 314 M 

Ball Joint Left 

Ball Joint Right 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

TTrack Control Arm Left 

Track Control Arm Right 

Silentblock for TCA 

Silentblock for TCA 

Silentblock for TCA 

Stabiliser Mounting 

th:M12x1.5 RHT  cp:1/5 cs:Ø14,8  

th:M12x1.5 RHT  cp:1/5 cs:Ø14,8  

 

 

th:MM14x1.5 RHT L:312,5mm 

L:269,5mm  

  

 

di:Ø12 do:Ø32,6 

di:Ø13 do:Ø60 

di:Ø13,5 do:Ø60,5 

di:Ø17  

10AU1200 

10AU1201 

17VW2010 

17VW2011 

20VW2020 

26VW2010 

3030AU1200 

30AU1201 

38AU1200 

38AU1205 

38AU1210 

38AU1215 

5

11

109

14

8

43

21

12

13

8

26VW2010

10AU1200 10AU1201

38AU1200

30AU1201 30AU1200 

38AU1210

38AU1215

38AU1205

26VW2010

17VW201117VW2010

20VW202020VW2020

HYDRO PS



AUDI
                                                                                        
A1 (8X1,8XK)                                      
A1 Sportback (8XA , 8XF)                                            

05/2010 - 10/2018
11/2011 - 10/2018

NO ASMETAL CODE MEASURES OEMDESCRIPTION

6

7

15

1K0 505 465 K 

5Q0 505 465 C 

1J0 501 541 D 

Stabiliser Link Rear 

Stabiliser Link Rear 

Mounting Axle Body 

L:95,3mm  

L:70mm Plastic 

di:Ø12,5 do:Ø69,2 

26VW1605 

26VW1700 

38VW1502 

Quattro
11 /2014 -->

>

A1

7

15 15

7

26VW170026VW1700

38VW1502 38VW1502

Quattro
--   04 / 2015>

6 6

26VW160526VW1605



AUDI

A1 SPORTBACK (GBA) 07/2018 -->

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

1K0 407 365 C 

1K0 407 366 C 

1K0 423 812 J 

1K0 423 811 J 

6R0 411 315 

357 407 182 

5Q045Q0407183E 

Ball Joint Left 

Ball Joint Right 

Tie Rod End Right 

Tie Rod End Left 

Stabiliser Link 

Silentblock for TCA 

Silentblock Silentblock for TCA 

th:M12x1.5 RHT  cp:1/5 cs:Ø15,4  

th:M12x1.5 RHT  cp:1/5 cs:Ø15,4  

c:Ø13,2 th:FM16x1,5 RHT 

c:Ø13,2 th:FM16x1,5 RHT 

L:269,5mm  

di:Ø12 do:Ø32,6 

di:Ødi:Ø13,2 do:Ø65 

10VW1600 

10VW1601 

17AU1200 

17AU1201 

26VW2010 

38AU1200 

3838AU3021 

A1

5

7

34

6 21

1.5-2.0L 35&40 TFSI

38AU1200 10VW1601

38AU302138AU3021

10VW1600

26VW2010 26VW2010

17AU120017AU1201



AUDI

A2  (8Z0)    1.2 TDI 03/2001 - 08/2005

A2 (8Z0)   1.4 - 1.6 [PS] 03/2001 - 08/2005

>

Exc. Electro HydraulicExc. Electro Hydraulic

A2

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

1J0 422 811 B 

1J0 422 812 B 

8Z0 423 810 C 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

c:Ø13,2 th:FM14x1,5 RHT 

c:Ø13,2 th:FM14x1,5 RHT 

th:MM14x1.5 RHT L:315mm 

17VW1260 

17VW1261 

20AU1100 

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

1J0 422 811 B 

1J0 422 812 B 

8Z0 423 810 C 

6Q0 411 315 N 

6Q0 411 314 P 

8Z0 411 314 B 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

Stabiliser Mounting 

Stabiliser Mounting 

c:Ø13,2 th:FM14x1,5 RHT 

c:Ø13,2 th:FM14x1,5 RHT 

th:MM14x1.5 RHT L:315mm 

L:269,5mm  

di:Ø16  

di:Ø20,8  

17VW1260 

17VW1261 

20AU1100 

26VW2010 

38AU2000 

38VW2000 

>

3
21

20AU1100 20AU1100 17VW126117VW1260

PS

3
21

20AU1100 20AU1100 17VW126117VW1260

5

6

38VW2000

38AU2000 38AU2000

38VW2000

4 4

26VW201026VW2010



AUDI
                                                                                        
A3 (8L1)                                                          09 / 1996 - 05 / 2003
A3 Quattro

Ø19

Ø20

Ø23

>

A3

12 12

25

24

23

26

38AU3002

26VW150226VW1502

38AU3002

38AU3000

38AU3010

26

38AU3010

38AU3000

38AU300338AU3003

All
Quattro Chassis  --> 8L - X - 140-000

>

26VW1500

526VW1500526AU1500

11 11

32

26VW1500

32

26VW1511

1413

26VW1510

>
Quattro

Chassis 8L - X - 140 - 001 --

NO ASMETAL CODE MEASURES OEM

11

12

13

14

23

24

2525

26

32

DESCRIPTION

1J0 411 315 E 

1J0 411 315 K 

1J0 411 315 D 

1J0 411 316 D 

1J0 411 314 T 

1J0 411 314 P 

1J0 1J0 411 314 R 

1J0 411 327 

1J0 411 315 J 

Stabiliser Link 

Stabiliser Link 

Stabiliser Link Left 

Stabiliser Link Right 

Stabiliser Mounting 

Stabiliser Mounting 

Stabiliser MountingStabiliser Mounting 

Mounting Axle Body 

Stabiliser Link 

L:105mm  

L:105mm Plastic 

L:335,5mm  

L:335,5mm  

di:Ø20,8  

di:Ø19,7  

di:Ø20,8 di:Ø20,8  

di:Ø14,5 do:Ø29 

26VW1500 

26VW1502 

26VW1510 

26VW1511 

38AU3000 

38AU3002 

3838AU3003 

38AU3010 

526VW1500 



AUDI
                                                                                        
A3 (8L1)                                                          09 / 1996 - 05 / 2003
A3 Quattro

A3

NO ASMETAL CODE MEASURES OEMDESCRIPTION

10VW1502

20VW0500

17VW123517VW1255

10VW1501

30VW1501 

2

34

7

38AU1200

20

38AU1205

38AU1210

21

22
1

17

30VW1502 

18

  -- > Chassis  8L - W - 050-421

Chassis  8L - W - 050-422  -- > 

20VW0500
5

8

1615

6

17VW1260

1

2

3

4

5

6

77

8

15

16

17

18

20

221

22

1J0 407 366 A 

1J0 407 365 A 

1J0 422 812 A 

1J0 422 811 A 

1J0 422 811 B 

1J0 422 812 B 

1J0 422 803 B1J0 422 803 B 

1J0 422 803 A 

1J0 422 803 H 

1J0 422 804 H 

1J0 407 151 C S1 

1J0 407 151 C S2 

357 407 182 

1J0 41J0 407 181 

6R0 407 181 B 

Ball Joint Right 

Ball Joint Left 

Tie Rod End Right 

Tie Rod End Left 

Tie Rod End Left 

Tie Rod End Right 

Axial JointAxial Joint 

Axial Joint 

Tie Rod Left 

Tie Rod Right 

Track Control Arm Right 

Track Control Arm Left 

Silentblock for TCA 

Silentblock Silentblock for TCA 

Silentblock for TCA 

th:M12x1.5 RHT  cp:1/5 cs:Ø15  

th:M12x1.5 RHT  cp:1/5 cs:Ø15  

c:Ø13,3 th:FM14x1,5 RHT 

c:Ø13,3 th:FM14x1,5 RHT 

c:Ø13,2 th:FM14x1,5 RHT 

c:Ø13,2 th:FM14x1,5 RHT 

th:MMth:MM16x1,5 RHT L:318,5mm 

th:MM16x1,5 RHT L:335,5mm 

 

 

 

 

di:Ø12 do:Ø32,6 

di:Ødi:Ø13 do:Ø60 

di:Ø13,5 do:Ø60,5 

10VW1501 

10VW1502 

17VW1235 

17VW1255 

17VW1260 

17VW1261 

20VW050020VW0500 

20VW0501 

29VW1260 

29VW1261 

30VW1501 

30VW1502 

38AU1200 

3838AU1205 

38AU1210 

20VW0501

29VW1260

20VW0501

29VW1261

17VW1261



AUDI
                                                                                        
A3 (8L1)                                                          09 / 1996 - 05 / 2003
A3 Quattro

Ø69
Ø72Ø72

Ø69

Ø10

30

MEASURES

A3

NO ASMETAL CODE MEASURES OEMDESCRIPTION

9

10

19

27

28

29

3030

31

1J0 505 466 B 

1J0 505 466 C 

8D0 511 327 C 

8N0 407 182 A 

1J0 412 331 B 

1J0 412 331 B S1 

1J0 51J0 501 541 C 

1J0 501 541 D 

Stabiliser Link Rear 

Stabiliser Link Rear 

Stabiliser Mounting 

Silentblock for TCA 

Strut Mount 

Strut Mount Kit 

Mounting Axle BodyMounting Axle Body 

Mounting Axle Body 

L:175mm  

L:194,5mm  

di:Ø10,8  

26AU1200 

26AU1205 

38AU0100 

38AU5000 

38VW1270 

38VW1271 

38VW38VW1500 

38VW1502 

38VW1270

38VW127138VW1271

26AU1200 26AU1200

38VW1500
38VW1502 38VW1502

38VW1500

26AU1205 

38AU0100 38AU0100

38VW1270

28

29

10

19

31

9

30

9

30

29

28

38AU5000

27

S3 Quattro
Chassis 8L - Y - 117 501 -->

QUATTRO

Heavy Duty Suspension

26AU1205 



                                                                                        
A3 (8P1)                                                         05 / 2003 - 08 / 2012
A3 SPORTSBACK (8PA)                                                                     09 / 2004 - 03 / 2013
A3 CABRIO (8P7)                                                                             04 / 2008 - 05 / 2013

AUDI
A3

S3 Quattro
(8P1) - (8PA)

20AU1200 20AU1200

38VW126210VW1600

38AU3030

30VW1601 

10VW160138VW1261

17AU1200

26VW1600 26VW1600

17AU1201

6

8

1 15

7

13

11

NO ASMETAL CODE MEASURES OEMDESCRIPTION

8

214

5

10VW1606 10VW1605

4 3

1

2

3

4

5

6

77

8

10

11

13

14

15

1K0 407 365 C 

1K0 407 366 C 

3C0 407 366 B 

3C0 407 365 B 

1K0 423 812 J 

1K0 423 811 J 

1K0 423 1K0 423 810 A 

1K0 411 315 B 

1K0 407 151 AA 

1K0 407 152 AA 

1K0 407 182 

1K0 199 232 J 

1K0 199 231 J 

Ball Joint Left 

Ball Joint Right 

Ball Joint Right 

Ball Joint Left 

Tie Rod End Right 

Tie Rod End Left 

Axial JointAxial Joint 

Stabiliser Link 

Track Control Arm Left 

Track Control Arm Right 

Silentblock for TCA 

Silentblock for TCA 

Silentblock for TCA 

th:M12x1.5 RHT  cp:1/5 cs:Ø15,4  

th:M12x1.5 RHT  cp:1/5 cs:Ø15,4  

th:M12x1.5 RHT  cp:1/5 cs:Ø15,2  

th:M12x1.5 RHT  cp:1/5 cs:Ø15,2  

c:Ø13,2 th:FM16x1,5 RHT 

c:Ø13,2 th:FM16x1,5 RHT 

th:MMth:MM16x1,5 RHT L:312mm 

L:335mm  

 

 

di:Ø12,2 do:Ø39,5 

  

  

10VW1600 

10VW1601 

10VW1605 

10VW1606 

17AU1200 

17AU1201 

2020AU1200 

26VW1600 

30VW1600 

30VW1601 

38AU3030 

38VW1261 

38VW1262 

30VW1600 

10



AUDI

38AU1220 38AU1220

26VW1605

9 9

12

9

12

1K0 505 465 K 

1K0 505 203 A 

Stabiliser Link Rear 

Silentblock for TCA 

L:95,3mm  

di:Ø14,2 do:Ø38,7 

26VW1605 

38AU1220 

26VW1605



AUDI
                                                                                        
A3  (8V1, 8VK)    
A3 SPORTSBACK (8VA,8VF)
A3 CABRIO (8V7,8VE)
A3 BERLINE (8VS,8VM)

04/2012 -->
09/2012 -->
10/2013 -->
05/2013 -->

CAST IRON WHEEL BEARING HOUSING CAST IRON WHEEL BEARING HOUSING

ALU WHEEL BEARING HOUSINGALU WHEEL BEARING HOUSING

A3

10VW1600 10VW1601

1 2

13

CAST IRON WHEEL BEARING HOUSING    

NO ASMETAL CODE MEASURES OEMDESCRIPTION

17

18

20AU1200 20AU1200
17AU1200

17AU120317AU1202

6

9

5

87

26VW1600

38AU3020

38AU3021

26VW1600

10

1

2

5

6

7

8

99

10

12

13

17

18

1K0 407 365 C 

1K0 407 366 C 

1K0 423 812 J 

1K0 423 811 J 

1K0 423 812 J 

1K0 423 811 J 

1K0 423 1K0 423 810 A 

1K0 411 315 B

5Q0 407 151 J S1 

5Q0 407 152 J S1 

5Q0 407 182 

5Q0 407 183 E 

Ball Joint Left 

Ball Joint Right 

Tie Rod End Right 

Tie Rod End Left 

Tie Rod End Left 

Tie Rod End Right 

Axial JointAxial Joint 

Stabiliser Link

Track Control Arm Left  

Track Control Arm Right 

Silentblock for TCA 

Silentblock for TCA 

th:M12x1.5 RHT  cp:1/5 cs:Ø15,4  

th:M12x1.5 RHT  cp:1/5 cs:Ø15,4  

c:Ø13,2 th:FM16x1,5 RHT 

c:Ø13,2 th:FM16x1,5 RHT 

 

 

th:MMth:MM16x1,5 RHT L:312mm 

L:335mm  

 

di:Ø12,2 do:Ø39,5 

di:Ø13,2 do:Ø65 

10VW1600 

10VW1601 

17AU1200 

17AU1201 

17AU1202 

17AU1203 

2020AU1200 

26VW1600

30VW1602 

30VW1603 

38AU3020 

38AU3021 

30VW1603 

12

30VW1602 



AUDI
                                                                                        
A3 (8V1)                                                                    04 / 2012 -->
A3 SPORTSBACK (8VA)                                                                                09 / 2012 -->
A3 CABRIO (8V7)                                                                                        05 / 2013 -->
A3 BERLINE (8VS )                                                                                     10 / 2013 -->

10VW1606 10VW1605

4
3

ALU WHEEL BEARING HOUSING  

NO ASMETAL CODE MEASURES OEMDESCRIPTION

A3

17

18

11

16

38AU3020

38AU3021

26VW1700

38AU1220 38AU1220

26VW1700

3

4

11

14

15

16

117

18

3C0 407 366 B 

3C0 407 365 B 

5Q0 505 465 C 

5Q0 407 151 J S2 

5Q0 407 152 J S2 

1K0 505 203 A 

5Q0 45Q0 407 182 

5Q0 407 183 E 

Ball Joint Right 

Ball Joint Left 

Stabiliser Link Rear 

Track Control Arm Left 

Track Control Arm Right 

Silentblock for TCA 

Silentblock Silentblock for TCA 

Silentblock for TCA 

th:M12x1.5 RHT  cp:1/5 cs:Ø15,2  

th:M12x1.5 RHT  cp:1/5 cs:Ø15,2  

L:70mm Plastic 

 

 

di:Ø14,2 do:Ø38,7 

di:Ø12,2 do:Ø39,5di:Ø12,2 do:Ø39,5 

di:Ø13,2 do:Ø65 

 

15

30VW1613 

14

30VW1612 

10VW1605 

10VW1606 

26VW1700 

30VW1612 

30VW1613 

38AU1220 

3838AU3020 

38AU3021 



                                                                                        
A4  (8D2 - B5)                                                             01 / 1995 - 11 / 2000
A4 AVANT (8D5 - B5)                                                                        07 / 1995 - 09 / 2001
A4 QUATTRO (B5)                                                                             01 / 1995 - 11 / 2000

AUDI
A4

26AU0210 26AU0211

12 13

29VW2500 29VW2500

14

17VW2500

20VW2500 20VW2500

17VW2501

3

2 2

3

4
17VW2500

17VW2501

17VW2500 20VW2500 20VW2500

2 24

17VW2500

NO

2

3

4

12

13

14

4B0 419 811 E 

4B0 419 811 E 

8E0 422 821 

8D0 411 317 D 

8D0 411 318 D 

4B0 419 801 B 

17VW2500 

17VW2501 

20VW2500 

26AU0210 

26AU0211 

29VW2500 

Tie Rod End 

Tie Rod End 

Axial Joint 

Stabiliser Link Left 

Stabiliser Link Right 

Tie Rod   

th:MM14x1,5 RHT 

th:MM14x1,5 RHT 

th:MM16x1,5 RHT L:130mm 

L:90mm  

L:90mm  

 

ASMETAL CODE MEASURES OEMDESCRIPTION



23AU0230 23AU0230

38AU0231

23AU0221

38AU4001

23AU0220

10

11

20

9

1

11

18
38AU0230

17

38AU4000

19

38AU0231

18

A4

23AU0201

23AU0204 23AU0203

23AU0200
38AU0101

38AU0101

8

6 5

16

7

NO ASMETAL CODE MEASURES OEMDESCRIPTION

13AU0200

38AU0100 38AU0100

15 15

1

5

6

7

8

9

110

11

15

16

17

18

19

2020

8D0 498 998 

8E0 407 506 A 

8E0 407 505 A 

8E0 407 510 P 

8E0 407 509 P 

8E0 407 694 AG 

8E0 48E0 407 693 AG 

4D0 407 151 P 

8D0 511 327 C 

8D0 407 515 C 

4D0 407 182 G 

4D0 407 181 H 

4D0 407 183 AC 

4D0 44D0 407 183 AC 

 

c:Ø16  L:272,5mm 

c:Ø16  L:272,5mm 

c:Ø16  L:250mm 

c:Ø16  L:250mm 

c:1:6 th:M12x1.5 RHT L:386,2mm 

c:1:6 th:M12xc:1:6 th:M12x1.5 RHT L:386,2mm 

c:1:6 th:M12x1.5 RHT L:269mm 

di:Ø10,8  

di:Ø10,1 do:Ø46,5 

 

 

di:Ø12,2 do:Ø65,1 

di:Ø12di:Ø12,1 do:Ø64 

13AU0200 

23AU0200 

23AU0201 

23AU0203 

23AU0204 

23AU0220 

2323AU0221 

23AU0230 

38AU0100 

38AU0101 

38AU0230 

38AU0231 

38AU4000 

3838AU4001 

Suspension Kit 

TCA Right  

TCA Left 

TCA Right  

TCA Left 

TCA Right  

TTCA Left 

TCA Lower 

Stabiliser Mounting 

Silentblock for TCA 

Silentblock for TCA 

Silentblock for TCA 

Silentblock for TCA 

Silentblock Silentblock for TCA 

Hydraulic Bushing

All Rubber

                                                                                        
A4  (8D2 - B5)                                                             01 / 1995 - 11 / 2000
A4 AVANT (8D5 - B5)                                                                        07 / 1995 - 09 / 2001
A4 QUATTRO (B5)                                                                             01 / 1995 - 11 / 2000

AUDI

ALL TYPES  ALL TYPES  



AUDI
                                                                                        
A4 (8E2 - B6)                                                      11 / 2000 - 12 / 2004 
A4 AVANT (8E5 - B6)                                                                     04 / 2001 - 12 / 2004 
A4 QUATTRO (B6)                                                                         04 / 2001 - 12 / 2004 

A4

26AU0213

17VW2500

20VW2500 20VW2500

17VW2501

26AU0214

13

3

2 2

2 2

3

4

4

15

14

NO ASMETAL CODE MEASURES OEMDESCRIPTION

17VW2500

17VW2501

2

3

4

5

6

7

88

13

14

15

18

17VW2500 

17VW2501 

20VW2500 

23AU0200 

23AU0201 

23AU0203 

2323AU0204 

26AU0213 

26AU0214 

29VW2500 

38AU0101 

Tie Rod End 

Tie Rod End 

Axial Joint 

TCA Right  

TCA Left 

TCA Right  

TTCA Left 

Stabiliser Link Left 

Stabiliser Link Right 

Tie Rod   

Silentblock for TCA 

th:MM14x1,5 RHT 

th:MM14x1,5 RHT 

th:MM16x1,5 RHT L:130mm 

c:Ø16  L:272,5mm 

c:Ø16  L:272,5mm 

c:Ø16  L:250mm 

c:Øc:Ø16  L:250mm 

L:90mm  

L:90mm  

 

di:Ø10,1 do:Ø46,5 

4B0 419 811 E 

4B0 419 811 E 

8E0 422 821 

8E0 407 506 A 

8E0 407 505 A 

8E0 407 510 P 

8E0 48E0 407 509 P 

8E0 411 317 

8E0 411 318 

4B0 419 801 B 

8D0 407 515 C 

23AU0201

23AU0204 23AU0203

23AU0200
38AU0101

38AU0101

8

6 5

18

7



AUDI
                                                                                        
A4 (8E2 - B6)                                                         11 / 2000 - 12 / 2004 
A4 AVANT (8E5 - B6)                                                                        04 / 2001 - 12 / 2004 
A4 QUATTRO (B6)                                                                            04 / 2001 - 12 / 2004 

38AU4020

38AU4000

23AU0221
23AU0220

30AU0201 

38AU4001

13AU0202

23AU0240

38AU0230

30AU0200 

23AU0240
11 11

22

19

22

9

NO ASMETAL CODE MEASURES OEMDESCRIPTION

A4

1

9

10

11

12

16

117

19

20

21

22

8E0 407 151 R S3 

8E0 407 694 AG 

8E0 407 693 AG 

8E0 407 151 R 

8E0 505 465 AF 

8E0 505 323 M 

8E0 505 38E0 505 324 M 

4D0 407 182 E 

4D0 407 183 AC 

4D0 407 183 AC 

8E0 407 181 C 

13AU0202 

23AU0220 

23AU0221 

23AU0240 

26AU0200 

30AU0200 

3030AU0201 

38AU0230 

38AU4000 

38AU4001 

38AU4020 

Suspension Kit 

TCA Right  

TCA Left 

TCA Lower 

Stabiliser Link Rear 

TCA Left Rear 

TTCA Right Rear 

Silentblock for TCA 

Silentblock for TCA 

Silentblock for TCA 

Silentblock for TCA 

 

c:1:6 th:M12x1.5 RHT L:386,2mm 

c:1:6 th:M12x1.5 RHT L:386,2mm 

c:1:6 th:M12x1.5 RHT L:363mm 

 

 

  

 

di:Ø12,2 do:Ø65,1 

di:Ø12,1 do:Ø64 

di:Ø12,4 do:Ø40,3 

17

26AU0200

12

26AU0200

12

16

10

20

21

1

38AU4020



A4

26AU021426AU0213

29VW2505 

14

12 13

14

NO ASMETAL CODE MEASURES OEMDESCRIPTION

2

3

4

5

6

7

1212

13

14

17

4F0 498 811 A 

8E0 422 821 

8E0 407 506 A 

8E0 407 505 A 

8E0 407 510 P 

8E0 407 509 P 

8E0 8E0 411 317 

8E0 411 318 

4B0 419 801 M 

8D0 407 515 C 

17VW2505 

20VW2500 

23AU0200 

23AU0201 

23AU0203 

23AU0204 

2626AU0213 

26AU0214 

29VW2505 

38AU0101 

Tie Rod End 

Axial Joint 

TCA Right  

TCA Left 

TCA Right  

TCA Left 

Stabiliser Link LeStabiliser Link Left 

Stabiliser Link Right 

Tie Rod   

Silentblock for TCA 

th:MM14x1,5 RHT 

th:MM16x1,5 RHT L:130mm 

c:Ø16  L:272,5mm 

c:Ø16  L:272,5mm 

c:Ø16  L:250mm 

c:Ø16  L:250mm 

L:90mm L:90mm  

L:90mm  

 

di:Ø10,1 do:Ø46,5 

20VW2500 20VW2500

2 23
17VW2505

29VW2505 

17VW2505

23AU0201

23AU0204 23AU0203

23AU0200
38AU0101

38AU0101

7

5 4

17

6

AUDI
                                                                                        
A4 (8EC - B7)                                                         11 / 2004 - 06 / 2008 
A4 AVANT (8ED - B7)                                                                       11 / 2004 - 06 / 2008 
A4 CABRIO (8H7 / 8HE - B7)                                                             04 / 2002 - 03 / 2009
A4 QUATTRO (B7)                                                                            11 / 2004 - 06 / 2008



AUDI
                                                                                        
A4 (8EC - B7)                                                         11 / 2004 - 06 / 2008 
A4 AVANT (8ED - B7)                                                                       11 / 2004 - 06 / 2008 
A4 CABRIO (8H7 / 8HE - B7)                                                             04 / 2002 - 03 / 2009
A4 QUATTRO (B7)                                                                            11 / 2004 - 06 / 2008

16

11

98

1

A4

NO ASMETAL CODE MEASURES OEMDESCRIPTION

23AU0223

13AU0203

23AU0222

23AU0240 23AU0240
38AU0230

38AU4020

10 10

30AU0201 30AU0200 

16

26AU0200

11

26AU0200

11

15

98

19

38AU0222

18

1

20

38AU4020

20

1

8

9

10

11

15

116

18

19

20

8E0 407 693 AL S3 

8E0 407 693 AA 

8E0 407 694 AA 

8E0 407 151 R 

8E0 505 465 AF 

8E0 505 323 M 

8E0 505 38E0 505 324 M 

4F0 407 183 A 

4D0 407 182 E

8E0 407 181 C 

 

13AU0203 

23AU0222 

23AU0223 

23AU0240 

26AU0200 

30AU0200 

3030AU0201 

38AU0222 

38AU0230

38AU4020 

 

Suspension Kit 

TCA Left 

TCA Right  

TCA Lower 

Stabiliser Link Rear 

TCA Left Rear 

TTCA Right Rear 

Silentblock for TCA 

Silentblock for TCA

Silentblock for TCA 

 

 

c:1:6 th:M12x1.5 RHT L:386,2mm 

c:1:6 th:M12x1.5 RHT L:386,2mm 

c:1:6 th:M12x1.5 RHT L:363mm 

 

 

  

di:Ø12,4 do:Ø40,3 

 



AUDI
                                                                                        
A4  (8K2 - B8)                                                             11 / 2007 - 12 / 2015
A4 AVANT (8K5 - B8)                                                                       04 / 2008 - 12 / 2015
A4 ALLROAD (8KH - B8)                                                                   11 / 2007 - 12 / 2015
A4 QUATTRO (8K2 - B8)                                                                    04 / 2009 - 12 / 2015

PlasticPlastic

A4

NO ASMETAL CODE MEASURES OEMDESCRIPTION

26AU2600 26AU2600

17AU2500

20AU2500 20AU2500

17AU2501

19

7
3

19

4

Hydro PS.

20AU2500 20AU2500
17AU2503

17AU2502

7
5 6

Elect. PS.

23AU0102
23AU0103

23AU0100 23AU0101

38AU0101

38AU0101

20

10

8

11

9

UPPER Exc. Allroad

3

4

5

6

7

8

99

10

11

19

20

8K0 422 817 B 

8K0 422 818 B

4G0 423 811 A

4G0 423 812 A 

4H0 422 810 A 

8K0 407 509 A 

8K0 48K0 407 510 A 

8K0 407 505 A 

8K0 407 506 A 

8K0 411 317 D 

8D0 407 515 C 

17AU2500 

17AU2501

17AU2502

17AU2503 

20AU2500 

23AU0100 

2323AU0101 

23AU0102 

23AU0103 

26AU2600 

38AU0101 

Tie Rod End Left 

Tie Rod End Right

Tie Rod End Left

Tie Rod End Right 

Axial Joint 

TCA Left 

TTCA Right 

TCA Left 

TCA Right 

Stabiliser Link   

Silentblock for TCA 

Tie Rod End Left 

Tie Rod End Right

Tie Rod End Left

Tie Rod End Right 

Axial Joint 

TCA Left 

TTCA Right 

TCA Left 

TCA Right 

Stabiliser Link   

Silentblock for TCA 



M12

Ø14Ø14

M12

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 14 15 1

10AU2501

LOWER
-- > 08/2011 

-- > 08/2011 

10AU2500

10AU2501

23AU2500

38AU250038AU2501

23AU2503 23AU2502 

23AU2501
10AU2500

2 16 2

22

38AU2500

22

23

38AU2501

23

38AU2500

22

38AU2500

22

17

21

-- > 10/2009

23AU0111

26AU2500 26AU2500

23AU011038AU0110

13

18

12

18

A4

1

2

12

13

14

15

116

17

18

21

22

23

8K0 407 689 G 

4G0 407 689 C 

8K0 407 694 N 

8K0 407 693 N 

8K0 407 151 D 

8K0 407 152 D 

8K0 48K0 407 151 F 

8K0 407 152 F 

8K0 505 465 G 

8K0 407 183 A 

4E0 407 181 B 

8K0 407 182 B 

10AU2500 

10AU2501 

23AU0110 

23AU0111 

23AU2500 

23AU2501 

2323AU2502 

23AU2503 

26AU2500 

38AU0110 

38AU2500 

38AU2501 

Ball Joint 

Ball Joint 

TCA Right 

TCA Left 

TCA Left 

TCA Right 

TTCA Left 

TCA Right 

Stabiliser Link Rear 

Silentblock for TCA 

Silentblock for TCA 

Silentblock for TCA 

th:M12x1.5 RHT  cp:1/5 cs:Ø13,8 do:Ø42 

c:1:5 th:M12x1.5 RHT L:421,2mm 

c:1:5 th:M12x1.5 RHT L:421,2mm 

L:60,5mm Plastic 

di:Ø12,2 do:Ø65 

di:Ø12,5 do:Ø43,9 

di:Ø12di:Ø12,1 do:Ø50,4 

-> 05/2010

AUDI
                                                                                        
A4  (8K2 - B8)                                                             11 / 2007 - 12 / 2015
A4 AVANT (8K5 - B8)                                                                       04 / 2008 - 12 / 2015
A4 ALLROAD (8KH - B8)                                                                   11 / 2007 - 12 / 2015
A4 QUATTRO (8K2 - B8)                                                                    04 / 2009 - 12 / 2015



AUDI
                                                                                        
A4  (8W2 - B9)                                                                           05 / 2015 -- >
A4 AVANT (8W5 - B9)                                                                                 08 / 2015 -- >
A4 QUATTRO ( 8W2 - B9 )                                                                           05 / 2015 -- >

Ø14Ø14

A4

NO ASMETAL CODE MEASURES OEMDESCRIPTION

3 4 3

LOWER 

38AU2500

10AU250110AU2501

38AU2501 38AU2500

1 1

26AU2600 26AU2600

2

1

2

3

4

4G0 407 689 C 

8K0 411 317 D 

4E0 407 181 B 

8K0 407 182 B 

10AU2501 

26AU2600 

38AU2500 

38AU2501 

Ball Joint 

Stabiliser Link   

Silentblock for TCA 

Silentblock for TCA 

 

L:170mm Plastic 

di:Ø12,5 do:Ø43,9 

di:Ø12,1 do:Ø50,4 

2



AUDI
                                                                                        
A5  COUPE (8T3)       
A5  SPORTBACK (8TA)    
A5  CABRIO (8F7)    

06/2007 - 01/2017
09/2009 - 01/2017
03/2009 - 01/2017

A5

NO ASMETAL CODE MEASURES OEMDESCRIPTION

26AU2600

17AU250117AU2500
20AU250020AU2500

19

43 7

3

4

5

6

7

8

99

10

11

19

20

8K0 422 817 B 

8K0 422 818 B 

4G0 423 811 A 

4G0 423 812 A 

4H0 422 810 A 

8K0 407 509 A 

8K0 48K0 407 510 A 

8K0 407 505 A 

8K0 407 506 A 

8K0 411 317 D 

8D0 407 515 C 

17AU2500 

17AU2501 

17AU2502 

17AU2503 

20AU2500 

23AU0100 

2323AU0101 

23AU0102 

23AU0103 

26AU2600 

38AU0101 

Tie Rod End Left 

Tie Rod End Right 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

TCA Left 

TTCA Right 

TCA Left 

TCA Right 

Stabiliser Link   

Silentblock for TCA 

 

 

 

 

th:MM16x1,5 RHT L:225,5mm 

c:Ø16  L:237mm 

c:Øc:Ø16  L:237mm 

c:Ø16  L:270mm 

c:Ø16  L:270mm 

L:170mm Plastic 

di:Ø10,1 do:Ø46,5 

26AU2600

19

Hydro PS.  

17AU250317AU2502
20AU250020AU2500

6

11

9

10

8

5 7

20

38AU0101
23AU0103

23AU0101
23AU0100

23AU0102

Elect. PS.  

UPPER
Exc. Allroad

38AU0101



AUDI
A5

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 14 15 1

LOWER
-- > 08/2011 

-- > 08/2011 

10AU2500
23AU2500

10AU250110AU2501

38AU250038AU2501

23AU2503 23AU2502 

23AU2501
10AU2500

2 16 2

22

38AU2500

22

23

38AU2501

23

38AU2500

22

38AU2500

22

17

-- > 10/2009

26AU2500 26AU2500

18 18

1

2

12

13

14

15

116

17

18

21

22

23

8K0 407 689 G 

4G0 407 689 C 

8K0 407 694 N 

8K0 407 693 N 

8K0 407 151 D 

8K0 407 152 D 

8K0 48K0 407 151 F 

8K0 407 152 F 

8K0 505 465 G 

8K0 407 183 A 

4E0 407 181 B 

8K0 407 182 B 

10AU2500 

10AU2501 

23AU0110 

23AU0111 

23AU2500 

23AU2501 

2323AU2502 

23AU2503 

26AU2500 

38AU0110 

38AU2500 

38AU2501 

Ball Joint 

Ball Joint 

TCA Right 

TCA Left 

TCA Left 

TCA Right 

TTCA Left 

TCA Right 

Stabiliser Link Rear 

Silentblock for TCA 

Silentblock for TCA 

Silentblock for TCA 

th:M12x1.5 RHT  cp:1/5 cs:Ø13,8 do:Ø42 

 

c:1:5 th:M12x1.5 RHT L:421,2mm 

c:1:5 th:M12x1.5 RHT L:421,2mm 

 

 

  

 

L:60,5mm Plastic 

di:Ø12,2 do:Ø65 

di:Ø12,5 do:Ø43,9 

di:Ø12,1 do:Ø50,4 

                                                                                        
A5  COUPE (8T3)       
A5  SPORTBACK (8TA)    
A5  CABRIO (8F7)    

06/2007 - 01/2017
09/2009 - 01/2017
03/2009 - 01/2017

21

-- > 10/2009

23AU0111 23AU011038AU0110

13 12

Ø12

Ø14

Ø12

Ø14

Ø12 Ø12 

-> 05/2010



AUDI

A5  COUPE (F53)    
A5  SPORTBACK (F5A)    
A5  CABRIO (F57)    

06/2016 -->
09/2016 -->
11/2016 -->

                                                                                        
A6  (4A2,C4)                                                                          06 / 1994 - 10 / 1997
A6  AVANT (4A - C4)                                                                        06 / 1994 - 12 / 1997
A6  QUATTRO (C4)                                                                           06 / 1994 - 12 / 1997

M14M14

A5

A6

26AU0204 26AU0204

3 3

Exc. Quattro

Lower

17AU05 17AU04

2 1

2

4 1

3

26AU2600

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

443 419 812 D 

443 419 811 D 

8E0 505 465 C 

17AU04 

17AU05 

26AU0204 

Tie Rod End Right 

Tie Rod End Left 

Stabiliser Link Rear 

c:Ø12,6 th:FM16x1,5 RHT 

c:Ø12,6 th:FM16x1,5 RHT 

L:56,5mm Plastic 

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

4G0 407 689 C 

8K0 411 317 D 

4E0 407 181 B 

8K0 407 182 B 

10AU2501 

26AU2600 

38AU2500 

38AU2501 

Ball Joint 

Stabiliser Link   

Silentblock for TCA 

Silentblock for TCA 

 

L:170mm Plastic 

di:Ø12,5 do:Ø43,9 

di:Ø12,1 do:Ø50,4 

26AU2600

38AU2501

10AU2501

38AU2501

38AU2500

3

38AU2500

1

10AU2501



AUDI
                                                                                        
A6  ( 4B2, C5 )                                                                              01 / 1997 - 01 / 2005
A6  AVANT ( 4B2, C5 )                                                                      01 / 1997 - 01 / 2005
A6 ALLROAD (4BH - C5)                                                                   05 / 2000 - 08 / 2005
A6  QUATTRO (C5)                                                                            01 / 1997 - 01 / 2005

A6

2002 -->

 Exc. Allroad

26AU0210 26AU0211

14 15

29VW2500 29VW2500

29VW2505 29VW2505

16

--> 2002

17VW2500

20VW2500 20VW2500

17VW2501
2

1 1

2

4 17VW2500

17VW2501

NO ASMETAL CODE MEASURES OEMDESCRIPTION

17VW2505 17VW2505

3 3
20VW2500 20VW2500

4

17

23AU0201

23AU0204 23AU0203

23AU0200
38AU0101

38AU0101

8

6
5

18

7

UPPER

1

2

3

4

5

6

77

8

14

15

16

17

18

4B0 419 811 E 

4B0 419 811 E 

4F0 498 811 A 

8E0 422 821 

8E0 407 506 A 

8E0 407 505 A 

8E0 48E0 407 510 P 

8E0 407 509 P 

8D0 411 317 D 

8D0 411 318 D 

4B0 419 801 B 

4B0 419 801 B 

8D0 407 515 C 

17VW2500 

17VW2501 

17VW2505 

20VW2500 

23AU0200 

23AU0201 

2323AU0203 

23AU0204 

26AU0210 

26AU0211 

29VW2500 

29VW2505 

38AU0101 

Tie Rod End 

Tie Rod End 

Tie Rod End 

Axial Joint 

TCA Right  

TCA Left 

TTCA Right  

TCA Left 

Stabiliser Link Left 

Stabiliser Link Right 

Tie Rod   

Tie Rod   

Silentblock for TCA 

th:MM14x1,5 RHT 

th:MM14x1,5 RHT 

th:MM14x1,5 RHT 

th:MM16x1,5 RHT L:130mm 

c:Ø16  L:272,5mm 

c:Ø16  L:272,5mm 

c:Øc:Ø16  L:250mm 

c:Ø16  L:250mm 

L:90mm  

L:90mm  

 

 

di:Ø10,1 do:Ø46,5 



Chassis  -- > 4B -2- 031-499
 --> 09 / 2001 

Chassis  -- > 4B -2- 031-500
 --> 09 / 2001 

AUDI
                                                                                        
A6  ( 4B2, C5 )                                                                             01 / 1997 - 01 / 2005
A6  AVANT ( 4B2, C5 )                                                                      01 / 1997 - 01 / 2005
A6 ALLROAD (4BH - C5)                                                                   05 / 2000 - 08 / 2005
A6  QUATTRO (C5)                                                                            01 / 1997 - 01 / 2005

23AU0221

38AU4000 38AU4001

13AU0201

26AU0204

23AU0220

23AU0230 23AU0230

23AU0250 23AU0250

10

19

11

12

13

20

21

9

LOWER Exc. Aliroad

Quattro

26AU0204

A6

NO ASMETAL CODE MEASURES OEMDESCRIPTION

9

10

11

12

13

19

2020

21

8E0 407 694 AG 

8E0 407 693 AG 

4D0 407 151 P 

4B3 407 151 E 

8E0 505 465 D 

4D0 407 183 AC 

4D0 44D0 407 183 AC 

4B3 498 998 

23AU0220 

23AU0221 

23AU0230 

23AU0250 

26AU0204 

38AU4000 

3838AU4001 

13AU0201 

TCA Right  

TCA Left 

TCA Lower 

TCA Lower 

Stabiliser Link Rear 

Silentblock for TCA 

Silentblock Silentblock for TCA 

Suspension Kit 

c:1:6 th:M12x1.5 RHT L:386,2mm 

c:1:6 th:M12x1.5 RHT L:386,2mm 

c:1:6 th:M12x1.5 RHT L:269mm 

c:1:6 th:M12x1.5 RHT L:364mm 

L:56,5mm Plastic 

di:Ø12,2 do:Ø65,1 

di:Ø12di:Ø12,1 do:Ø64 

 



AUDI
                                                                                        
A6 ( 4F2 - C6)                                                                               05 / 2004 - 03 / 2011
A6 AVANT ( 4F5 - C6 )                                                                      03 / 2005 - 08 / 2011
A6 ALLROAD ( 4FH - C6 )                                                                  05 / 2006 - 08 / 2011
A6 QUATTRO ( C6 )                                                                           05 / 2004 - 08 / 2011

A6

NO ASMETAL CODE MEASURES OEMDESCRIPTION

17VW2505

38AU0101 38AU0101

17VW2505

26AU0215

26AU0204 23AU0204

3 3

1 1

Chassis   -- > 4B -5- 050-000 

5

1

2

3

4

5

4F0 498 811 A 

4F0 422 821 D 

8E0 505 465 C 

4E0 411 317 E 

8D0 407 515 C 

17VW2505 

20AU0200 

26AU0204 

26AU0215 

38AU0101 

Tie Rod End 

Axial Joint 

Stabiliser Link Rear 

Stabiliser Link 

Silentblock for TCA 

th:MM14x1,5 RHT 

 

L:56,5mm Plastic 

 

di:Ø10,1 do:Ø46,5 

4

26AU0215

20AU0200

2

20AU0200



AUDI
A6

11/2010 - 09/2018
05/2011 - 09/2018
11/2010 - 09/2018
01/2019 - 09/2018

26AU2600 26AU2600

17AU250317AU2502

14 14

4
3

23AU0102 23AU0103

23AU0100 23AU0101

38AU0101

38AU0101

UPPER Exc. Allroad

15

7

5

8

6

1

16 17

11

16

12 1

LOWER
-- > 08/2011 

10AU2500 23AU2500

38AU2500 38AU2501 38AU2500

23AU2501
10AU2500

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

3

4

5

6

7

88

11

12

14

15

16

17

8K0 407 689 G

4G0 423 811 A 

4G0 423 812 A 

8K0 407 509 A 

8K0 407 510 A 

8K0 407 505 A 

8K0 48K0 407 506 A 

8K0 407 151 D 

8K0 407 152 D 

8K0 411 317 D 

8D0 407 515 C 

4E0 407 181 B 

8K0 407 182 B 

10AU2500

17AU2502 

17AU2503 

23AU0100 

23AU0101 

23AU0102 

2323AU0103 

23AU2500 

23AU2501 

26AU2600 

38AU0101 

38AU2500 

38AU2501 

Ball Joint

Tie Rod End Left 

Tie Rod End Right 

TCA Left 

TCA Right 

TCA Left 

TTCA Right 

TCA Left 

TCA Right 

Stabiliser Link   

Silentblock for TCA 

Silentblock for TCA 

Silentblock for TCA 

th:M12x1.5 RHT  cp:1/5 cs:Ø13,8 do:Ø42

 

 

c:Ø16  L:237mm 

c:Ø16  L:237mm 

c:Ø16  L:270mm 

c:Øc:Ø16  L:270mm 

L:360,9mm 

L:360,9mm 

L:170mm Plastic 

di:Ø10,1 do:Ø46,5 

di:Ø12,5 do:Ø43,9 

di:Ø12,1 do:Ø50,4 

A6 (4G2, 4GC-C7)    
A6 AVANT (4G5, 4GDC7)
A6 QUATTRO (C7)
A6 ALLROAD (4GH,4GJC7)

11/2010 - 09/2018
05/2011 - 09/2018
11/2010 - 09/2018
01/2019 - 09/2018

M12 M12



M14M14

AUDI

A6 (4G2, 4GC-C7)    
A6 AVANT (4G5, 4GDC7)
A6 QUATTRO (C7)
A6 ALLROAD (4GH,4GJC7)

11/2010 - 09/2018
05/2011 - 09/2018
11/2010 - 09/2018
01/2019 - 09/2018

26AU2500

-- > 10/2009

9

15

10

22

23AU0110

10AU2501

23AU0111

NO ASMETAL CODE MEASURES OEMDESCRIPTION

26AU2500

15

10AU2501

LOWER 
-- > 08/2011 

38AU250038AU2501

23AU2503 23AU2502 

13

1819

38AU2500

18

14

2

9

10

13

14

15

118

19

4G0 407 689 C 

8K0 407 694 N 

8K0 407 693 N 

8K0 407 151 F 

8K0 407 152 F 

8K0 505 465 G 

4E0 44E0 407 181 B 

8K0 407 182 B 

10AU2501 

23AU0110 

23AU0111 

23AU2502 

23AU2503 

26AU2500 

3838AU2500 

38AU2501 

Ball Joint 

TCA Right 

TCA Left 

TCA Left 

TCA Right 

Stabiliser Link Rear 

Silentblock Silentblock for TCA 

Silentblock for TCA 

 

c:1:5 th:M12x1.5 RHT L:421,2mm 

c:1:5 th:M12x1.5 RHT L:421,2mm 

 

 

L:60,5mm Plastic 

di:Ø12,5 do:Ø43,9di:Ø12,5 do:Ø43,9 

di:Ø12,1 do:Ø50,4 

A6



AUDI
A7

26AU2600 26AU2600

17AU2502 17AU2503

10 10

3 4

22

10AU250110AU2501

LOWER 
-- > 08/2011 

38AU250038AU2501

23AU2503 23AU2502 

7

1112

38AU2500

11

8

1

11 12

5

11

6 1

LOWER
-- > 08/2011 

10AU2500 23AU2500

38AU2500 38AU2501 38AU2500

23AU2501 10AU2500

9 9

26AU2500 26AU2500

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

10

11

12

8K0 407 689 G 

4G0 407 689 C 

4G0 423 811 A 

4G0 423 812 A 

8K0 407 151 D 

8K0 407 152 D 

8K0 48K0 407 151 F 

8K0 407 152 F 

8K0 505 465 G 

8K0 411 317 D 

4E0 407 181 B 

8K0 407 182 B 

10AU2500 

10AU2501 

17AU2502 

17AU2503 

23AU2500 

23AU2501 

2323AU2502 

23AU2503 

26AU2500 

26AU2600 

38AU2500 

38AU2501 

Ball Joint 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

TCA Left 

TCA Right 

TTCA Left 

TCA Right 

Stabiliser Link Rear 

Stabiliser Link   

Silentblock for TCA 

Silentblock for TCA 

th:M12x1.5 RHT  cp:1/5 cs:Ø13,8 do:Ø42 

 

 

 

L:360,9mm 

L:360,9mm 

  

 

L:60,5mm Plastic 

L:170mm Plastic 

di:Ø12,5 do:Ø43,9 

di:Ø12,1 do:Ø50,4 

                                                                                        
A7 SPORTBACK (4GA,4GF)                                                                     10 / 2010 -->

M14M14

M12 M12



AUDI

A7 SPORTBACK (4KA) 10/2017 -->

A7

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 4E0 407 181 B 38AU2500 Silentblock for TCA di:Ø12,5 do:Ø43,9 

38AU250038AU2500

1

Lower



AUDI
                                                                                        
A8 ( 4D2 - 4D8 )                                                             03/1994 - 09/2002
A8 QUATTRO

Chassis  -- > 4D -X- 004-999
 --> 10 / 1998 

A8

29VW2500 29VW2500
7

17VW2500
20VW2500 20VW2500

17VW2501

2

1 1

2

8

3 17VW2500

17VW2501

23AU0221

38AU4000 38AU4001

23AU0220

5

9 10

4

38AU0101

NO ASMETAL CODE MEASURES OEMDESCRIPTION

23AU0230 23AU0230

6

1

2

3

4

5

6

77

8

9

10

4B0 419 811 E 

4B0 419 811 E 

8E0 422 821 

8E0 407 694 AG 

8E0 407 693 AG 

4D0 407 151 P 

4B0 4B0 419 801 B 

8D0 407 515 C 

4D0 407 183 AC 

4D0 407 183 AC 

17VW2500 

17VW2501 

20VW2500 

23AU0220 

23AU0221 

23AU0230 

29VW250029VW2500 

38AU0101 

38AU4000 

38AU4001 

Tie Rod End 

Tie Rod End 

Axial Joint 

TCA Right  

TCA Left 

TCA Lower 

Tie Tie Rod   

Silentblock for TCA 

Silentblock for TCA 

Silentblock for TCA 

th:MM14x1,5 RHT 

th:MM14x1,5 RHT 

th:MM16x1,5 RHT L:130mm 

c:1:6 th:M12x1.5 RHT L:386,2mm 

c:1:6 th:M12x1.5 RHT L:386,2mm 

c:1:6 th:M12x1.5 RHT L:269mm 

  

di:Ø10,1 do:Ø46,5 

di:Ø12,2 do:Ø65,1 

di:Ø12,1 do:Ø64 



                                                                                        
A8 (4E)                                                                 10/2002 - 07/2010
A8 QUATTRO (4E)                                                                                10/2002 - 07/2010

AUDI

                                                                                        
A8 ( 4H )                                                                                 09/2011 -->
A8 QUATTRO (4H)                                                                                         11/2009 -->

A8

20AU2500 20AU2500

1 1

Hydro PS.

NO ASMETAL CODE MEASURES OEMDESCRIPTION

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

4H0 422 810 A
8K0 505 465 G

20AU2500
26AU2500

Axial Joint th:MM16x1,5 RHT L:225,5mm 

L:60,5mm Plastic Stabiliser Link

38AU4000 38AU4001 26AU0215

3

2

4 1

38AU0101

26AU2500

2

1

2

3

4

4E0 411 317 E 

8D0 407 515 C 

4D0 407 183 AC 

4D0 407 183 AC 

26AU0215 

38AU0101 

38AU4000 

38AU4001 

Stabiliser Link 

Silentblock for TCA 

Silentblock for TCA 

Silentblock for TCA 

 

di:Ø10,1 do:Ø46,5 

di:Ø12,2 do:Ø65,1 

di:Ø12,1 do:Ø64 

26AU0215

1



AUDI
CABRIO

NO ASMETAL CODE MEASURES OEMDESCRIPTION

4 4

26AU0100 26AU0100

3 3

17VW2005

10AU1500 10AU1501

17VW2005

1 2

1

2

3

4

895 407 365 

895 407 366 

811 419 812 A 

8A0 407 465 C 

10AU1500 

10AU1501 

17VW2005 

26AU0100 

Ball Joint Lower Left 

Ball Joint Lower Right 

Tie Rod End 

Stabiliser Link 

c:Ø19    

c:Ø19    

c:Ø10,7 th:FM14x1,5 RHT 

L:269,5mm  

                                                                                        
CABRIO (8G7,B4)                                                                  05/1991 - 08/2000



AUDI
                                                                                        
COUPE ( 81,85 )                                                                    07 / 1980 - 10 / 1988

COUPE

NO

1

2

3

4

5

ASMETAL CODE MEASURES OEMDESCRIPTION

823 407 365 E 

855 407 365 A 

855 407 366 A 

811 419 812 

811 419 812 A 

10AU0000 

10AU0200 

10AU0201 

17VW2001 

17VW2005 

Ball Joint Lower 

Ball Joint Lower Left 

Ball Joint Lower Right 

Tie Rod End 

Tie Rod End 

c:Ø17    

c:Ø17    

c:Ø17    

c:Ø10,5 th:MM14x1,5 RHT 

c:Ø10,7 th:FM14x1,5 RHT 

PS

MS

4 4

5 5

2 3

10AU020110AU0200

1 1

10AU0000 10AU0000

17VW2001

17VW2005 17VW2005

17VW2001



AUDI
                                                                                        
COUPE (89,8B)                                                                          10 / 1988 - 12/1996
COUPE QUATTRO                                                                               10 / 1988 - 12/1996

COUPE

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

893 407 366 

893 407 365 

895 407 365 

895 407 366 

811 419 812 A 

8A0 407 465 C 

10AU01 

10AU04 

10AU1500 

10AU1501 

17VW2005 

26AU0100 

Ball Joint Lower Right 

Ball Joint Lower Left 

Ball Joint Lower Left 

Ball Joint Lower Right 

Tie Rod End 

Stabiliser Link 

c:Ø19    

c:Ø19    

c:Ø19    

c:Ø19    

c:Ø10,7 th:FM14x1,5 RHT 

L:269,5mm  

6

26AU0100 26AU0100

Chassis 8B - L - 003-792 -->
 09 / 1989 -->

 -->  Chassis 8B - L - 003-791
 --> 09 / 1989 EXC. 2.8

5 5

17VW2005 17VW2005

2 1

10AU04 10AU01

43

10AU1500 10AU1501



AUDI
                                                                                        
Q2 (GA)                                                                                      09/2016 -->

NO ASMETAL CODE MEASURES OEMDESCRIPTION

Q2

1

2

3

4

5

6

77

8

9

3C0 407 366 B 

3C0 407 365 B 

1K0 423 811 J 

1K0 423 812 J 

1K0 423 810 A 

5Q0 411 315 A 

5Q0 505 465 C5Q0 505 465 C 

1K0 505 203 A 

5Q0 407 182 

10VW1605 

10VW1606 

17AU1202 

17AU1203 

20AU1200 

26VW1600 

26VW26VW1700 

38AU1220 

38AU3020 

Ball Joint Right 

Ball Joint Left 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

Stabiliser Link Stabiliser Link Rear 

Silentblock for TCA 

Silentblock for TCA 

th:M12x1.5 RHT  cp:1/5 cs:Ø15,2  

th:M12x1.5 RHT  cp:1/5 cs:Ø15,2  

 

 

th:MM16x1,5 RHT L:312mm 

L:335mm  

L:70mm PlasticL:70mm Plastic 

di:Ø14,2 do:Ø38,7 

di:Ø12,2 do:Ø39,5 

10VW160510VW1606

12

QUATTRO

38AU3020

9

26VW1600 26VW1600

6 6

43

17AU120317AU1202

20AU1200 20AU1200
5

38AU1220

26VW170026VW1700

7

88

38AU1220

38AU3020



AUDI
                                                                                        
Q3 (8U)                                                                             06/2011 - 10/2018

NO ASMETAL CODE MEASURES OEMDESCRIPTION

Q3

1

2

3

4

5

6

77

8

9

10

11

1K0 407 365 C 

1K0 407 366 C 

1K0 423 812 J 

1K0 423 811 J 

1K0 423 812 J 

1K0 423 811 J 

1K0 423 1K0 423 810 A 

1K0 411 315 B 

1K0 505 465 K 

1K0 505 203 A 

1K0 407 182 

10VW1600 

10VW1601 

17AU1200 

17AU1201 

17AU1202 

17AU1203 

2020AU1200 

26VW1600 

26VW1605 

38AU1220 

38AU3030 

Ball Joint Left 

Ball Joint Right 

Tie Rod End Right 

Tie Rod End Left 

Tie Rod End  Left 

Tie Rod End Right 

Axial JointAxial Joint 

Stabiliser Link 

Stabiliser Link Rear 

Silentblock for TCA 

Silentblock for TCA 

th:M12x1.5 RHT  cp:1/5 cs:Ø15,4  

th:M12x1.5 RHT  cp:1/5 cs:Ø15,4  

c:Ø13,2 th:FM16x1,5 RHT 

c:Ø13,2 th:FM16x1,5 RHT 

 

 

th:MMth:MM16x1,5 RHT L:312mm 

L:335mm  

L:95,3mm  

di:Ø14,2 do:Ø38,7 

di:Ø12,2 do:Ø39,5 

10VW1600 10VW1601

1 21

38AU3030 38AU3030

11

26VW1600

17AU1201

26VW1600

8 8

3

65

4

17AU1200

17AU1203
17AU1202

20AU1200 20AU1200
7

38AU1220 38AU1220

10

9

10

26VW1605 26VW1605



AUDI
Q3

20VW1200 20VW1200 

38AU3020

38AU3021

30VW1607 

10VW1605

38AU1220

26VW170026VW1700

10VW1606

17AU1203

26VW1600 26VW1600

17AU1202

3

38AU3020

6

5

11

12

9

7

1

1010

2

6

4

NO

1

2

3

4

5

6

77

8

9

10

11

12

ASMETAL CODE MEASURES OEMDESCRIPTION

3C0 407 366 B 

3C0 407 365 B 

1K0 423 811 J 

1K0 423 812 J 

561 423 810 

1K0 411 315 B 

5Q0 505 465 C5Q0 505 465 C 

3Q0 407 151 E 

3Q0 407 152 E 

1K0 505 203 A 

5Q0 407 182 

5Q0 407 183 E 

10VW1605 

10VW1606 

17AU1202 

17AU1203 

20VW1200 

26VW1600 

26VW26VW1700 

30VW1606 

30VW1607 

38AU1220 

38AU3020 

38AU3021 

Ball Joint Right 

Ball Joint Left 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

Stabiliser Link Stabiliser Link Rear 

Track Control Arm Left 

Track Control Arm Right 

Silentblock for TCA 

Silentblock for TCA 

Silentblock for TCA 

th:M12x1.5 RHT  cp:1/5 cs:Ø15,2  

th:M12x1.5 RHT  cp:1/5 cs:Ø15,2  

 

 

 

L:335mm  

  

 

 

di:Ø14,2 do:Ø38,7 

di:Ø12,2 do:Ø39,5 

 

QUATTRO

38AU1220

30VW1606 

8

Q3 (F3B) 07/2018 -->

1



AUDI
                                                                                        
Q5 (8R)                                                                                  11 / 2008 -- >

19 19

Q5

NO ASMETAL CODE MEASURES OEMDESCRIPTION

3

4

5

6

7

8

99

10

11

19

20

8K0 422 817 B 

8K0 422 818 B

4G0 423 811 A

4G0 423 812 A 

4H0 422 810 A 

8K0 407 509 A 

8K0 48K0 407 510 A 

8K0 407 505 A 

8K0 407 506 A 

8K0 411 317 D 

8D0 407 515 C 

17AU2500 

17AU2501

17AU2502

17AU2503 

20AU2500 

23AU0100 

2323AU0101 

23AU0102 

23AU0103 

26AU2600 

38AU0101 

Tie Rod End Left 

Tie Rod End Right

Tie Rod End Left

Tie Rod End Right 

Axial Joint 

TCA Left 

TTCA Right 

TCA Left 

TCA Right 

Stabiliser Link   

Silentblock for TCA 

 

 

 

 

th:MM16x1,5 RHT L:225,5mm 

c:Ø16  L:237mm 

c:Øc:Ø16  L:237mm 

c:Ø16  L:270mm 

c:Ø16  L:270mm 

26AU2600 26AU2600

17AU2500

20AU2500 20AU2500

17AU2501

19

7
3

19

4

Hydro PS.

20AU2500 20AU2500

17AU250317AU2502

7
5 6

Elect. PS.

23AU0102 23AU0103

23AU0100 23AU0101

38AU0101

38AU0101

20

10

8

11

9

UPPER Exc. Allroad



AUDI
                                                                                        
Q5 (8R)                                                                                  11 / 2008 -- >

M12 M12

M14M14

Q5

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

12

13

14

15

116

17

18

21

22

23

8K0 407 689 G 

4G0 407 689 C 

8K0 407 694 N 

8K0 407 693 N 

8K0 407 151 D 

8K0 407 152 D 

8K0 48K0 407 151 F 

8K0 407 152 F 

8K0 505 465 G 

8K0 407 183 A 

4E0 407 181 B 

8K0 407 182 B 

10AU2500 

10AU2501 

23AU0110 

23AU0111 

23AU2500 

23AU2501 

2323AU2502 

23AU2503 

26AU2500 

38AU0110 

38AU2500 

38AU2501 

Ball Joint 

Ball Joint 

TCA Right 

TCA Left 

TCA Left 

TCA Right 

TTCA Left 

TCA Right 

Stabiliser Link Rear 

Silentblock for TCA 

Silentblock for TCA 

Silentblock for TCA 

th:M12x1.5 RHT  cp:1/5 cs:Ø13,8 do:Ø42 

 

c:1:5 th:M12x1.5 RHT L:421,2mm 

c:1:5 th:M12x1.5 RHT L:421,2mm 

L:360,9mm 

L:360,9mm 

  

 

L:60,5mm Plastic 

di:Ø12,2 do:Ø65 

di:Ø12,5 do:Ø43,9 

di:Ø12,1 do:Ø50,4 

1

22 23

14

22

15 1

LOWER
-- > 08/2011 

10AU2500

23AU2500

38AU2500 38AU2501 38AU2500

23AU2501

10AU2500

21

-- > 10/2009

23AU0111

26AU2500 26AU2500

23AU011038AU0110

13

18

12

18

22

10AU250110AU2501

LOWER 
-- > 08/2011 

38AU250038AU2501

23AU2503 23AU2502 

16

2223

38AU2500

22

17



AUDI

Q5 (FY) 05/2016 -->

                                                                                        
Q7 ( 4L )                                                                                       03 / 2006 -->

Q5

NO ASMETAL CODE MEASURES OEMDESCRIPTION

38AU250038AU2500

1

Lower

Q7

1

2

3

4

5

7L0 422 817 D 

7L0 422 818 D 

7L0 422 803 C 

7L0 505 465 A 

7L0 505 466 A 

c:Ø16,5 th:FM16x1,5 RHT 

c:Ø16,5 th:FM16x1,5 RHT 

th:MM16x1,5 RHT L:288,5mm 

L:201mm  

L:201mm  

17AU1300 

17AU1301 

20AU1300 

26AU1300 

26AU1301 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link Rear Left 

Stabiliser Link Rear Right 

17AU1300 20AU1300 20AU1300
17AU1301

3

26AU1300

4

1 2

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 4E0 407 181 B 38AU2500 Silentblock for TCA di:Ø12,5 do:Ø43,9 

26AU1301

5



AUDI
                                                                                        
TT ( 8N3 , 8N9 )                                                                           10 / 1998 - 10 / 2006
TT QUATTRO

Ø72 Ø69 Ø69 Ø72

Ø19

Ø20

Ø23

TT

NO ASMETAL CODE MEASURES OEMDESCRIPTION

3

4

6

7

8

9

110

11

12

13

14

15

16

1J0 411 315 D 

1J0 411 316 D 

357 407 182 

1J0 407 181 

1J0 411 314 AC 

1J0 411 314 P 

8N0 48N0 407 182 A 

1J0 501 541 C 

1J0 501 541 D 

1J0 412 331 B 

1J0 412 331 B S1 

1J0 411 314 T 

1J0 411 314 R 

26VW1510 

26VW1511 

38AU1200 

38AU1205 

38AU3001 

38AU3002 

3838AU5000 

38VW1500 

38VW1502 

38VW1270 

38VW1271 

38AU3000 

38AU3003 

Stabiliser Link Left 

Stabiliser Link Right 

Silentblock for TCA 

Silentblock for TCA 

Stabiliser Mounting 

Stabiliser Mounting 

Silentblock Silentblock for TCA 

Mounting Axle Body 

Mounting Axle Body 

Strut Mount 

Strut Mount Kit 

Mounting Axle Body 

Mounting Axle Body 

L:335,5mm  

L:335,5mm  

di:Ø12 do:Ø32,6 

di:Ø13 do:Ø60 

di:Ø16,7  

di:Ø19,7  

di:Ø12,2 do:Ø45,2di:Ø12,2 do:Ø45,2 

di:Ø12,1 do:Ø71,5 

di:Ø12,5 do:Ø69,2 

di:Ø32 do:Ø65,5 

di:Ø32 do:Ø65,5 

di:Ø20,8  

di:Ø20,8  

38AU3002

38AU1200

38AU3000

38AU1205

38AU5000

38VW1271

26VW1510 26VW1511

38VW1270 38VW1270

38VW1502 38VW150238VW1500 38VW1500

38AU3001

38AU3003

89

16

15

38AU3000

12

6 7

3

13

14

10

4

13

11 11

38AU3003



AUDI
                                                                                        
TT (8N3, 8N9)                                                                            10 / 1998 - 10 / 2006
TT QUATTRO

TT

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

5

1J0 505 466 B 

1J0 505 466 C 

8D0 511 327 C

26AU1200 

26AU1205

38AU0100

 

Stabiliser Link Rear 

Stabiliser Link Rear 

Stabiliser Mounting

L:175mm  

L:194,5mm  

di:Ø10,8 

2 1

5

2

26AU1205
26AU1200 26AU1200

38AU0100 38AU0100

26AU1205



                                                                                        
TT (8J3)                                                                                       10 / 2006 -- >
TT ROAD STER (8J9)                                                                                   02 / 2007 -- >
TT QUATTRO                                                                                              10 / 2006 -- >
       

AUDI
TT

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

4H0 422 810 A 

1K0 411 315 B 

1K0 505 465 K 

1K0 407 182 

20AU2500 

26VW1600 

26VW1605 

38AU3030 

Axial Joint 

Stabiliser Link 

Stabiliser Link Rear 

Silentblock for TCA 

th:MM16x1,5 RHT L:225,5mm 

L:335mm  

L:95,3mm  

di:Ø12,2 do:Ø39,5 

3

26VW1605 26VW1605

38AU3030 38AU3030

4

26VW1600

20AU2500 20AU2500
FOR PR NR : 1ZE, 1ZF, 1ZP

26VW1600

2

1 1

2


